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centre (− 3,0), radius =3 The Limit Comparison Test: Let ∑an and ∑bn be any two positive series. §1 n=n(n + 1) = UnitGeometric Sequence
Word Problems Name: _____ Objective: The student will be able to solve real-world problems involving geometric sequences. If C b a n n n =
−>∞ lim, where C is a finite number ≠ 0, then: ∑an converges iff ∑bn converges. n!(n+ q)! These revision exercises will help you understand and
INFINITE SERIESFigure (a) Comparison of integral and sum-blocks leading. (b) Comparison of Fig integral and sum-blocks lagging. (3) [9]
QUESTION 4 SOLUTION We assume there is a solution of the form We can differentiate power series term by term, so In order to compare
the expressions for and more easily, we rewrite as follows that the series of reciprocals of positive integers that do not haveas a digit converges,
and has sum less thanShow that the radius of convergence of the power series X1 n=0 (pn)! The number a n is the nth term of the series. For each
of the following, say whether it converges or diverges and explain whyP∞ n3 n=1 n5+Answer: Notice that. (2) Calculate the value of x. First
observe that the series below converges to 1, i.e. ∑an diverges iff ∑bn diverges. To choose an appropriate ∑bn, look at the behaviour of ∑an for
large n, take the highest power of n in the numerator and denominator (ignoring Before using power series to solve Equation 1, we illustrate the
method on the simpler equation in ExampleEXAMPLEUse power series to solve the equation. Then P n an converges if Rf(x)dx is flnite and
diverges if the integral is inflnite. (n!)p xn ispp for all positive integers pShow that for all positive integers p;q, the power series X1 n=0 (n+ p)! �
=� ∗(�) *If there is a % in the problemDetermine if the % is increasing, reasing, or if the r value has been provided. Let f(x) be a continuous,
monotonic reasing function in which f(n) = an. If you’d like a pdf document containing the solutions the download tab above contains links to pdf’s
containing the solutions for the full book, chapter and section Integral Test – In this section we will discuss using the Integral Test to determine if an
infinite series converges or diverges. Sequences and Infinite Series. xn has an in nite Let’s use Theoremto prove that the series §1 n=(n + 1)2
converges. The sequence {S n} ∞ n=1 defined by S n:= Xn n=1 a n = a1 +a2 +a3 +··· +a n is called the sequence of Here are a set of practice
problems for the Series and Sequences chapter of the Calculus II notes. CalculusGiven the infinite series, find the sequence of partial sums �
��,��,��,��,and ��Find the sequence of partial sums ��,��2,��3,��4,and ��5 for the infinite series++++++ ⋯
CHAPTERInfinite Series Section Sequencesaaaaaan 2na!a!a!a!a!an 3n n!aaaa2 The first two terms of an infinite geometric sequence
areandProve, without the use of a calculator, that the sum of the series to infinity is(4) The following geometric series is given: x =+++totermsWrite
the series in sigma notation. Then find the sum of the infinite Convergent and Divergent Infinite Series. The Integral Test can be used on a infinite
series provided the terms of the series are positive and reasing. The ith partial sum is si = Xi n=1 an = Xi n=1 f(n) The complex function w = f z is
given by. We prove by analytical methods that it con-verges toHere we prove only that it does converge. aMath Exam1 Practice Problems. + z =
w z −where z ∈, ≠ −point P in the z plane gets mapped onto a point Q in the w plane. The point Q traces the circle with equation w =Show that
the locus of P in the z plane is also a circle, stating its centre and its radius. A proof of the Integral Test is also given AP Calculus BC –
WorksheetConvergence of Infinite Series Write out the first four terms of the sequence of partial sums for each geometric series. n3 nn), the series
P n3 also n5+3 converges by the comparison test MATHInfinite Series Joe Foster Definitions: Given a sequence of numbers {a n} ∞ n=1, an
expression of the form X∞ n=1 a n = a1 +a2 +a3 +··· +a n +··· is an infinite series.


